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b) Use the expansion above to evaluate (0.98)°

0'9% ~ I-—JAL ;
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5. Without using a calculator or mathematical tables, express

I-Cos300 1 SHNS
[z g] 2-0 2 +032 ’
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6. Pipe A can fill a tank in 2 hours, Pipe B and C can empty the tank in 5 hours and 6 hoy

J respectively. How long would it take:

i a) To fill the 1ank 1f A and B are left open and C is closed. (2 marks)
A9l - Vheo
- | = = 3 stk
45 _"s_ Z = of i=
- 4 i’“‘){\d(ﬂ. Sers 31\‘4 QOM Ml }\'\.
J b) To fill the tank with all pipes open. (2 marks)
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z y is inversely pmporﬂﬁnﬂl
x=2, when y=4.

to x" and k is the constant of )
5, and x=3, when y=4/3. Find the values of nand k.
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9. The coordinate

circle in the form ax’ + by? +ex +dy+e=0

——

e
e |22 “‘——-3
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s of the end points of dlameter are A(2 4) B(-2.

6). Find the equation of a

(3mark3)
(1-0)+(3-5J2
> 4«5 12y 420 = .-i &
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12. Célgﬁ WX and YZ intersect externally at Q. The secant WQ =11cm and QX =6cm while.
iy _

a) Calculate the length of chord YZ

(2 marks)
I\XL:H—H-)“-{N)\ Xz 66 _y
66 i
AR O L N A]‘
b) Find the length of the tangent SQ (2 marks)

Pl; ”’SX\-‘-———N\)

= \rf_:’(;: g'l?ﬂ' h_J‘

5|Page

Scanned with Any Scanner



14. Solve the equation below by completing the square. 5—9x —2x* =0

accept 332 ,{‘

(@ marksY
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15. Solve the simultaneous equations p A j
2x -y =3 X - 14 }q“b
,..-r:____—'
X" —xy =-4 = (3marks)
_ Sas
5y 3 "j = 5 L - =
D\L ‘.3 = ‘;5 = 'l [ 3
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;(_1'- 111'-’13(,:-‘1—
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Sy =4y = O
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| d use it 1o find
= ¢ | use 1t 10 hn
¢) If a player wins a gafne by lh:o:jmg a sum of 6 or 9, draw a tree diagram and

i (4 marks)
i thrown twice. (¢ ks
ili t he wins at least once when the dice are |
probability tha @ . fhk I
W o)
o] ) —
)
]
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000 was paid followed by 24 equal monthly i

. pC::I;hcaddm system was 15% less than the HLP price. |
(i) The monthly instalment.
i = EqE05D = 2099 AN
3
= l\-’[‘ OOV |3 P |

(1) ThTaSh price. (2marks)

(LB g5 ¥ 44§92 Gi
(92
- 238° goo|(« 4

b) A customer decided to buy the system in cash and was allowed an 8% discount on the cash
price. He took a bank loan to buy the system in cash. The bank charged compound interest on
the loan at rate of 16% p.a. compounded quarterly. The loan was repaid in 2years. Calculate
the amount repaid to the bank by the end of the 2 years. (3 marks)
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c) Express as a percentage of the Hire Purchase price, the difference between the amounts repaid
to the bank and the Hire Purchase price. (3 marks)
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4 g 00O — HOGENT  —

2§15k

\!

38!("3 X | OO _

—

LY § 027

IR S c|70 606 /-
e 517 /-

9|page

Scanned with Any Scanner



T L. lII
A BSOS 1z [
FEEEE L
s 11Tl
| |
-+t 1
- =
3 dp ‘
= [
[
1 -
= -
-
; ]
=mm e T
r-
S -
EREE _h mE= -
- -1
r— = e
- - - - E
H-- =4 Ll ! -+ : sEER T
s R fmm e (- v
: R - et
]
; 111 H1 T
._1—.-.-.-.-1— I A e e . S B . T
- |4 —4 ] INREERER ST e e o I B .
B RS : e i .
|+ e : R e B +
L= t—+11T1T11 - o p— -
A I S B L t
. |l et 1] a | 4 t—t— et
o B RS o bt = -
EmEREBEE S ER :]H..«_‘.-.m. mEESs WS
H_uu.«ﬂn..‘_—',._. pESRDERSSE TS S o EEnY _{_——-._fn—,..m—‘;..‘»—...-—-ﬁ—._'..—‘_'
L 1] - uE .
L1111 : M. __..-:i:._'._.
e NN |_.1._.._,1:,—1_ O N R . - —l.—i—o—w—-
=9 1 — AEEEEREEL T  Ene
1 - 1 1
- _.i. f—t——1 |+ +——— f i
- - : |1 ottt
- EpNEEEEE D ! L L3 bt —{- st
- —f—— _'_ - — -
= 28 -+ HEEN 141 4~ :
.- e
T - - —-—
NEEE e EEsE ki_ WEE —}—
| * i1
Lt N - A 0
4
s ! :
H S S
B -
1 1 T
: : :
1 t
HREE - . 41—
1 1 111

(i1)

10|Page
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Describe fully the transformation. 8 ]
& hear X - s fovenent [ poetl £ X -~

(A
L C.Q,“j — C_'(‘l‘.w) o Gk [t ﬁ%
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b) The last term

T, = Gd—q»:)ci.

Tl
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¢) The sum of the progression 3 marks
o AL (a4 o(7) ——
= B
‘.
- 12 F
o -
iy 1 s 4 fEED
S 2 =
- L2, g
12|Page
- 3

Scanned with Any Scanner



" (b) Ify is inversely proportional to the square root of x and that x = 4 when y =3, ¢

%

the value of x when y=38.

2
Jx A
L = Uy csepr oS 62Y
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(1 mark)
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The median mass.

1.

b. Use your graph to estimate

-
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(2 mark)
(3 marks)

il |

|

l\f\\

lies between 70.5 kg and 75.5 kg
Lo -
43

5)
\C
poy
Jerquartile range
54 ~> &
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(4. vy’
S3—62

The number of people whose mass

ii.

¢. From your graph find the %
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7 .
V . . . b
$ﬂe distance traveled in the 1% two seconds of motion. (2 marks) “
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e) The distance traveled in the third second. (2 marks)
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